Concepts and expressions

1. Scheme      expression    “language of constructions”
                      

             expresses   

                         concept

  Extra-linguistic character of concepts: what is shared by synonymous expressions

  (Bolzano: “Vorstellungen an sich”.)

2. Ambiguity, homonymy

   Definition 1

    A simple expression is homonymous iff it represents (expresses) more than one concept.

    A complex expression is ambiguous iff it represents (expresses) more than one concept.

   Examples:

Homonymy:

The banks of the Thames are nice. 

Some banks get bankrupt.

      The role of context: selection, rather than ‘creation’.

Albert Einstein has been an idealist. 
      The context is not sufficient. 

Ambiguity:

Flying planes can be dangerous.
Homonymous cases: fly, dangerous.

The role of grammar. Grammar is the way the constructions are encoded. Ambiguities:

Neštěstí způsobilo dlouhé hladovění.

Prime number = A number divisible just by 1 and itself.

Prime number = A number having just two divisors

                            Two distinct concepts, two objects denoted.

Definition 2

    An expression is homonymous/ambiguous iff it denotes more than one objects.

Prime number = A number having just two divisors

Prime number = A number greater than 1 divisible  just by 1 and itself

Here the object denoted is one and the same, concepts are distinct. Homonymy?

Definition 2 more appropriate.

Question: Flying planes... Two distinct propositions? One and the same proposition?

2. Synonymy, Equivalence, Coincidence

Definition 1

Expressions E1, E2 are synonymous iff they represent (express) one and the same concept.

Definition 2

Expressions E1, E2 are equivalent iff they denote one and the same object. They are weakly equivalent iff they are equivalent and not synonymous. 

Definition 3

Expressions E1, E2 are coincident in W at T  iff they denote two intensions whose value in W at T happens to be the same object.
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Synonymy: Rare.

catastrophe, disaster

Thus: 00catastrophe = 00disaster !

Some purely syntactic distinctions: 

XY believes that his wife is clever.

XY believes his wife to be clever.

(but not :

XY believes of his wife that she is clever.)

 Weak equivalence:

Examples:

the square root of nine

one plus two

being a doctor or an ingenieur

not being anything other than a doctor or an ingenieur

The Earth is bigger than Venus.

Venus is smaller than the Earth.

Coincidence:

Examples:

morning star

evening star

the capital of Poland

the largest town in Poland

the President of the USA

the husband of Laura Bush

Synonymy could not be distinguished from (weak) equivalence if the level of meanings/concepts were not distinguished from the level of denotations.

Equivalence could not be distinguished from coincidence if the following principle were ignored: empirical expressions denote non-trivial intensions, never their values in the actual world.

Unless the principle mentioned above were recognized the analytic character of A = B in the case of equivalence A and B could not be distinguished from the synthetic (empirical) character thereof if A were only coincident with B.

Example:

black and wild dogs = wild and black dogs 
vs.

the capital of Poland = the largest town in Poland.

The famous morning star X evening star case: Coincidence, not equivalence!

(w(t [0= 0Mowt 0Evwt]

(wrong: 

[0= 0Mo 0Ev] ! )

For Frege: Any two sentences whose truth-value is the same are equivalent.

TIL: Empirical sentences that share the truth-value are either synonymous (one is a syntactic variant of the other) or equivalent (one is the result of an equivalent transformation of the other) or coincident.

